@ 3D MILLING

INDEXABLE CARBIDE INSERTS

n\I:I *ﬂfﬁﬂ

HARRE - BEEBT) R —ERLLE - EmASE
TRE - BEREDND - BERES - NHE

yJ HR o ANEAARLTIHT » AR
BENT#%/]
I PR ARTIR - ERABERE - TIRIEA/N
/N CBRAYIR 9mm - T TNMEHEEHME - TR
B MIREER

&) /]
I ShBEARRIEIFEENT MR - Kk
/N BATNT) T EE - RTIHIBRD » T0 5 RGBT EE

SMPAEN  AFRMBIENT -
B |

N\ — AY /
G A% WA
V RISSIRTD R - SRR ORAASHTL - T AR
BAK > DREARESZA - B8EH TR
T




4

mE

5

20°

PN
021

002
&

T AR RE

TRZN—EMELR
P BRERAZEZEHR - /)
1R0. 02mm - ¥EXEBYINE
 BE BRI ZES|
EEE  BANIE
RE ' ERIIRE6G ©

]

¢ 100%

%

>

JREmEASE
BRI BEEHE - £/
HERIDREELE - T/
B EIFrES N
HREE)  WASIE
BN ©

HBRATNJ]

TR ESEgmNAIVER
SERMBED A o &
IR A Sl - W
HEIHILE80E=ED

@ 3D MILLING

t S0%

iR A IR0 SH E]

TR R R OSEE DA
RS FBJRELEY
02 VAR YNy -
BEMURDAEL &
ERSILE > TIRAE
R o



RATHEENE - XIREISEM IS

=gt /]

BAMEMININE ; BRI &SR > T
DU AE K T R EIMIE S - T A BB T 48
27 R RABETENT L » MR AE AN

REE - RAIIEISRIRE) ;857 BB NED)
HIZ) - B R N0 TAYBEHI B

HEMT #5t7]

BREEMBEMNTINZARTE  BRVELY]
HIZD - DUBSRIER AN ] R BESHTE - ATLUR S AY
q; ﬂ] HEREEETEEN R - BERABIMEN

BRKRERE  ARSERIHIK - JREaRME

BJ7IR 7]

ZHAZBNIDMITIE - BEEBSNRARNT A
q; ?IJ FERE - BEREMESHRNT - NMEMLK

REEA - DRARASGER  EhE EMARE
miALth - RYERBLE » NMERFRME ~ T
MR - BEERARBELE -

BReR(GRZER ]

T) M A V B E S E A R AR
2 BIREER T A T AR ETE &

Rnal INOAMAE - EE L RS e BB A
BENTE  BAS2ETANERRT  BE

W] &@an - AURAME R E R T) F (IR A e




R

REFa ]

@ 3D MILLING

SR RENETRT  KBEEE  BEKA |
BERERT 2m MRBRI RREENX |
W) R  JRARE) ) BRI &m0 |
KETEIEAN - HEZREEE |
MIEENN - BRFML !
EREE ) o SKIEE - TN SEEm |



HRA 7] F BE NARERE

BIDEFCOBHIE - EEmRSER TR ERIMAIVER © #HENIR DRZN—EMELR - Hik

REE > DREE @ YIEIF WMEBTE DR @ B A 2 BmERAZE/NR 0.013mm » $52%E

et - BASIEE o BAEVDEI S 269 EE) o BT - BEEBRIJICERSIHE
BIEE)  RANIERS @ i
RIDRS6 °

ATEEAER & 48 [ ‘A RA* Rk EF
Dz ORDERING CODE Rp THREAD | TORX SIZE

BHiIEX Shank cutters
525R070L150-3T-10 150
S25R070L200-3T-10 25 200 3
525R070L250-3T-10 250 55
530R070L150-4T-10 150
530R070L200-4T-10 30 200
S30R070L250-4T-10 250
535R070L150-4T-10 150 13 ) 4 "3 o
535R070L200-4T-10 35 200 32
535R070L250-4T-10 250
S40R070L150-5T-10 150
540R070L200-5T-10 40 200 32 5
S40R070L250-5T-10 250
FER Threaded shank end mill body
525R070L32-3T-M12 25 32 M12*1.75 12.5 3
S30R070L40-3T-M16 30
535R070L40-4T-M16 35 40 M16*2.0 13 17 4 "3 o
S4OR070L40-5T-M16 40 5
=R Shell type milling cutter bodies
S50R070L40-5T-D22 50 | & | 2 | 15 | - 5[ M3 | TI0
ERTR

TEERIER IS0 4R e e BR | BE | RE | &% | ERANIHH
ot LS a0 R
SDHX09T3075-P20 SDHX 097307 S
SDHX09T3075-P40T SDHX 097307 S Phl] TINALUX
SDHX09T3075-P40A SDHX 097307 S P40 ALOX 9 3.5 0.7 M3 O
SDHX09T307T-K10 SDHX 097307 T K10 | HYPERLOX 9 35 07 M3 (J (J
@ E/NT OMNI © HsusNT BN




@ 3D MILLING

BEME  EASRIHRENZHZARIA |
ERSER TNIEE B8 T/&E 2 BE !
o PR - Rl B RATRAUE Im |

BIRTD R RRED » TIHIE N TESHER |

TITHCBRTE » SMURE/D  RERSNTEER |
E ﬁ ”” I ﬁ ” ZaEx7) mumik L4RE48  BeEE |




BIDEFCOBHIE - EERSER
DREL - DREE @ HIF

TR ERIMAIVERS © #HENIR
ik e WA R

NARERE

DRZN—EMELR » HifR
EWERAZE/ MR 0.013mm - #5%E

AEeE - WABTHEE ° WA E VIS @8V EED o 8IS - BEEPRIDEEES(E
NEE  BHNIE®RE @ i
RIORS&on
= |
= m BB
RTEERISR Rk eF
m ORDERING CODE THREAD | TORX SIZE
W‘ =15 Shank cutters
517R080L120-2T-00 17 120 16
S17R080L150-2T-00 150 )
— 521R080L150-2T-00 )1 150 20
- 521R080L200-2T-00 200
525R080L150-3T-00 150
525R080L200-3T-00 25 200 3
© 525R080L250-3T-00 250 25
S30R080L150-4T-00 150 0.8 _ M25 18
Di 530R080L200-4T-00 30 200 ’ ’
=L 5. 530R080L250-4T-00 250 i
535R080L150-4T-00 150
535R080L200-4T-00 35 200
535R080L250-4T-00 250 32
S4OR080L150-5T-00 150
S40R080L200-5T-00 40 200 5
S40R080L250-5T-00 250
FE Threaded shank end mill body
517R080L30-2T-M8 17 30 M8*1.25 8.5 )
521R080L32-2T-M10 21 1 M10*1.5 10.5
525R080L32-3T-M12 25 M12*1.75 0.8 12.5 3 M2 18
S30R080L40-4T-M16 30 ’ i ’
535R080L40-4T-M16 35 40 M16*2.0 17
S4OR08OL40-5T-M16 5

ERTRH
RIEERIER
ORDERING CODE

1SO #wf%
1SO CODE

COATING

44

SCREW

g | BRI
PIAKINIS H

XDHT10T308-P40 XDHT 107308 ALOX . . 000 ©
XDHT10T308-K10 XDHT 107308 K10 | HYPERLOX 9.6 | 3.65 0.8 M25 ©00
XDHT10T308-K05 XDHT 107308 KO5 | HYPERLOX 9.6 | 365 08 M25 @ @ ©
XDHT10T308-M40 XDHT 107308 M40 | HARDLOX | 9.6 365 08 M25 @0© ©

@ EANT OBNT © B\ENL

EBLIZ/UNIT : mm



R

Bl 71k 871

@ 3D MILLING

BEME  ERRIHRENFNTIHA |
FRRATVD R » R RS HIfE ) |
mIZESN JIARJEAEREGESHEE |
NREnk &XF1 sl ZERARSERTE |
TTEREME  SMYAE/D  ARRBENL !
HEZREARIE:  BRERRIHNIIA !



RIBLEETE -

D2

E{EEEENN
JDREE - TDRBE - YR
A2l AS5=H -

AT

DR ERSMAIVERS © #HENIR
b e GRS EE
ADEVIEIS 289 ©

NARERE

TDRZN—ERELR » HiR
BB Z/VRR 0. 013mm » FE4E
U BEERRIICEES|EE
BIEE)  RANIERS @ i
RIORS6 °

STEERISE

ORDERING CODE
HIER Shank cutters
R16R350L120-2T-00 16 120 16 5
R16R350L150-2T-00 150
R20R350L120-3T-00 20 120 20 3
R20R350L150-3T-00 150
R25R350L150-4T-00 150
R25R350L200-4T-00 25 200 4
R25R350L250-4T-00 250 55
R30R350L150-5T-00 150 35 _ M25 7
R30R350L200-5T-00 30 200 ’ 5 ’
R30R350L250-5T-00 250
R35R350L150-6T-00 150
R35R350L200-6T-00 35 200
R35R350L250-6T-00 250 3 6
R40R350L150-6T-00 150
R40OR350L200-6T-00 40 200
R40R350L250-6T-00 250
ERTA

STEEAIER 1SO 4RH5 711 BE BR | BE | RAE | B&% | EAMIMH

AR A
RDHX0702M0S-P20 RDHX 0702 M0S HYPERLOX ©
RDHX0702M0T-K10 RDHX 0702 MOT K10 INOXACON 2 38 M 2 5
RDHX07T1M0S-P20 RDHX 0771 MOS | P20 | HYPERLOX 7 1.98 3.5 M25© ©
RDHX07T1MOT-K10 RDHX 0771 MOT | K10 | INOXACON | 7 198 35 M25 O0©0O©O0©@

@ 18T ORBNT © XEeEnT

BB{1/UNIT : om



ETERAISE e i 7 B BF
D2 ORDERING CODE THREAD | TORX SIZE
HIER Shank cutters
R20R500L120-2T-07 20 120 20 >
R20R500L150-2T-07 150
R25R500L150-3T-07 150
R25R500L200-3T-07 25 200
R25R500L250-3T-07 250 56 ]
R30R500L150-3T-07 150
R30R500L200-3T-07 30 200
R30R5001L250-3T-07 250 g ) M35 T
R35R500L150-4T-07 150
R35R500L200-4T-07 35 200 L
R35R500L250-4T-07 250 3
RLOR500L150-5T-07 150
R4OR500L200-5T-07 40 200 5
R4OR500L250-5T-07 250
FE Threaded shank end mill body
R20R500L30-2T-M10 20 30 M10*1.5 105 | 2
R25R500132-3T-M12 25 32 M12*1.75 12.5 .
R30R500L40-3T-M16 30 5 M35 | TIS
R35R500L40-4T-M16 35 40 M16*2.0 17 b
RLOR500L40-5T-M16 40 5
=R Shell type milling cutter bodies
R50R500L40-5T-D22 - 5 | M35 | TI5
ERTA
RTEERISR 1SO #Rf% =} SEE BE EE RA Rk BRI
IIIHm
RDHX1003M0S-P20H RDHX 1003 MOS HYPERLOX
RDHX1003M0S-P20A RDHX 1003 MOS on ALOX 318 M 35
RDHX1003MOT-K10 ROHX 1003 MOT | K10 | INOXACON 10 3.18 5 M35 oooooo

BBHiZ/UNIT : mm

RIEBRISR kg = Rk BF
ORDERING CODE THREAD | TORX SIZE
BHIER Shank cutters
Dz R35R600L150-3T-07 150
R35R600L200-3T-07 35 200 3
R35R600L250-3T-07 250
RLOR600L150-4T-07 150 3 6 ) M35 T
R4OR600L200-4T-07 40 200 A
R4OR600L250-4T-07 250
FEX Threaded shank end mill body
R35R600L40-4T-M16 35 A
RLOR600LL0-5T-M16 40 40 M16%2.0 6 17 g M35 | TS
By Shell type milling cutter bodies
R50R600L40-5T-D22 50 40 22 6 - 5 | M35 | TI5
ERTIH
RTEBRISR 1SO #wf% 7=t e HE EE RE YRR BRI
IIIﬂm
RDHX12T3M0S-P20H RDHX 12T3 M0S HYPERLOX
RDHX12T3M0S-P20A RDHX 12T3 M0S on ALOX M 35
RDHX12T3M0S-K10 RDHX 12T3 M0S | K10 | INOXACON 12 4.3 5 M3.5 oooooo

@ ENT OBNT © \EIENT TR/ONT




@ 3D MILLING

RVERRIRE - BRRORG |
NRA5HEE  ’FRER @ BILBE |
| THEERS  ERIAERSS |

BRBGEJIBERT) A RFHEA |

3 P FENRFa BHRASBARMEIILS |
f* Eﬁ w ﬁ; ﬁ ” TNREEHE mITBER) R EAREIERTIR !




EmREIR NARERE

TR EEHEOBIE - s TR BT ERBU =885/ BT ESHE - HiRIBER
RIOREL - DAEES @ 1)H 2 IBEROETE DR © 1ED NE/R 0.013mm » FBEAEHNT)
FASLELRE  WAS5E BIOREEEHSR8RE @ tIH & BEERRIDEE=RSBHE
£ Fﬁﬂﬂ TR R ERBNISEED %I}EHJJUI@E%E’@,%D

E m B

D D B @ @ % @ | eF
2 2 ORDERING CODE THREAD | TORX SIZE
Tze BfX Shank cutters
I B10R500L130-A 10 10 5 30 M 4 T15
B12R600L130-A 12 130 12 6 1
— — | B16R800L130-A 16 16 8 M5 T20
C C 35
B20R100L130-A 20 20 10
ERR
RIEBTISE 1SO 4RH& e b= Ef"‘ I_ E R% ERMItE
ORDERING CODE ISO CODE GRADE | COATING SCREW ﬂ Y« [n]s]H
ROHX10XX-P25 ROHX 10XX HYPERLOX M 4
ROHX12XX-P25 ROHX 12XX P25 HYPERLOX M5 O
ROHX16XX-P25 ROHX 16XX P25 | HYPERLOX 15 3 B M5 ©
ROHX20XX-P25 ROHX 20XX P25 | HYPERLOX 20 3 10 M5 ©
@ ANT OBNT © BT 7 L AT

=B

BN AHRIIET

PeEX
> € AKX




AR

FIRE ISR R
BT30-M08-45 45 12 15.4 8.5 17 Mo8 5° [t
BT30-M08-60 60 12 15.4 8.5 25 Mo8 5° [
BT30-M10-45 45 12 19 10.5 20 M10 4° [
BT30-M10-60 60 12 19 10.5 27 M10 L4e it
BT30-M12-45 B30 45 12 24 12.5 25 M12 4e [t
BT30-M12-60 60 12 24 12.5 32 M12 4° 2
BT30-M16-45 45 12 29 17 30 M16 4° 2
BT30-M16-60 60 12 29 17 37 M16 4° 2
BT40-M08-60 60 12 15.4 8.5 19 Mo8 5° 5
BT40-M10-60 60 12 19 10.5 22 M10 4e 5
BT40-M10-90 90 12 19 105 26 M10 4° 5
BT40-M12-60 BT40 60 12 23 125 26 M12 e 5
BT40-M12-90 90 12 23 125 30 M12 4° 5
BT40-M16-60 60 12 28.8 17 32 M16 4° 5
BT40-M16-90 90 12 28.8 17 36 M16 ke 5
BT50-M08-90 90 12 15.4 8.5 22 M08 5° 10
BT50-M10-90 90 12 19 105 25 M10 4° 10
BT50-M12-90 90 12 24 125 30 M12 [ 10
BT50-M12-135 B30 135 12 24 125 36 M12 4° 10
BT50-M16-90 90 12 29 17 35 M16 4° 10
BT50-M16-135 135 12 29 17 41 M16 [ 10

HE R R
BT40-MC08-60 60 33 15.4 8.5 M08 5
BT40-MC10-60 60 33 19 10.5 M10 5
BT40-MC12-60 BTA0 60 33 24 125 M12 5
BT40-MC16-60 60 33 29 17 M16 5
BT50-MC08-90 90 52 15.4 8.5 M08 10
BT50-MC10-90 90 52 19 10.5 M10 10
BT50-MC12-90 BTs0 90 52 24 12.5 M12 10
BT50-MC16-90 90 52 29 17 M16 10

HE =ik R
HSK§3A-M08-60 60 12 15.4 8.5 19 MO8 o 5
HSK63A-M10-60 60 7 19 105 2 M10 e 5
HSK63A-M10-90 %0 12 19 105 26 M10 e 5
HSK63A-M12-60 225 60 1 2% 125 27 M12 5 5
HSKE3A-M12-90 %0 12 2 125 31 M12 e 5
HSK§3A-M16-60 60 12 29 17 EP) M16 e 5
HSK63A-M16-90 %0 12 29 17 36 M16 e 5

D D
HSK63A-MC08-60 60 34 154 85 M08
HSKE3A-MC10-60 60 34 19 105 M10
HSK63A-MC10-90 %0 64 19 105 M10
HSKE3A-MC12-60 :E’; 60 34 2 125 M12
HSKE3A-MC12-90 %0 64 2% 125 M12
HSKE3A-MC16-60 60 34 29 17 M6
HSKE3A-MC16-90 %0 64 29 17 M16




| EEIE 2% — g4 PN b
& Coating Data Steel Stainless Steel Cast Iron

Q e Smpe | mEAR 50
Non-F High Temper-
27 Grade &r;te?ir::s ;?re ﬂlrgzg =
AT | 100-140-180
P20 + TINALOX T
T | 100-175-250
o 175
E P40 + TINALOX T
[ MBAT | 100-150-200
W PO + ALOX o
amT 150-175-200 35-108-180
K10 + HYPERLOX . ©
f2 05-2
P20 + TINALOX
#l ap 03-1
S f2 05-2
= P40 + TINALOX e
2 fz 0.5 2
g P40+ ALOX - 031
¥ '
f2 05-2.2 0.1-1.2
K10 + HYPERLOX . 131) 0105
L= 2 — g4 A e ) 5=k S) BsaaE 51
ﬁ% ﬂ] Grade & Coating Data Steel Stainless Steel Cast Iron N&g}iﬂ::s H;?:; Err;::/esr— ed
/T | 100-150-200  90-110-130  110-130-150 60-80-100
P40 + ALOX AT | 160-205-250 110-135-160 120-150-180 80-100-120
amT 200-500-800
- 500
T K10 + HYPERLOX &L 200-500-800  35-43-50  35-93-150
3 8T | 120-160-200 100-150-200 40-100-160
W KOS + HYPERLOX . 40-80-120
ST | 80-130-180 = B80-145-210 40-65-90
M40 + HARDLOX BT 120-185-250 60-90-120
fz | 005-0.25 | 005-025  0.05-0.25 0.05-0.25
" P40 + ALOX o | 01-30 0.1-3.0 0.1-30 0.1-3.0
S fz 0.08-035  008-0.12  0.08-0.15
@; K10 + HYPERLOX ap 0.1-9.0 0.1-3.0 0.1-1.0
n
= fz | 0.05-0.25 0.05-0.25 0.08-0.25
5 KOS + HYPERLOX N 01-30 01-50
: fz | 0.05-0.25  0.08-035 0.08-0.25
M40 + HARDLOX o | 01-30 0.1-90 0.1-9.0
HE | BB 2% | —WREN T ik E SkEME | EES AR
A7 Grade & Coating Data Steel  [COUISSUHN  Castion | NomFemous | High TEmPer |iprqeneg
o AT | 150-165-180
ME P25+ HYPERLOX o
f2 0.1-0.4
P25 + HYPERLOX /R5
al ap 0.3-2.0
S f2 0.1-0.4
W P25+ HYPERLOX/RE o .
« P25 + HYPERLOX /R8 fz 0108
;&}.}; ap 0.5-3.0
: f2 0.1-06
P25 + HYPERLOX/RID o/

ES{i/UNIT : DELRE Ve (n/sec) ; EIDEHS Fz (mm) /HDER Ap (mm)




35 e / $EE 2 — g A N i b 5=k S) sEaE R R P 5
ﬁ? ﬂ] Grade & Coating Data Steel Stainless Steel Cast Iron N&r;—tl:ir;olgs H;?rr; E%‘:/esr' ed
AHP0T | 100-140-180 100-125-150
an 140 125
b | +
IE P20 + HYPERLOX fEHL 150-200-250 150-200-250
it AT 150-175-200 @ 100-250-400 35-43-50 35-93-150
X K10 + INOXACON e e en = -
#&H0L  150-200-250 | 120-150-180 | 150-175-200 100-250-400 35-43-50
& fz 0.1-0.3 0.1-0.2
< +
g% P20 + HYPERLOX ap 0.1-0.7 0.1-0.4
¥ fz 0.1 0.1 0.1-0.3 0.1-0.3 0.1-0.2 0.1-0.15
25 N . . .1-0. .1-0. .1-0. .1-0.
- K10 + INOXACON ap 0.1 0.1 0.1-0.7 0.1-1 0.1-0.75 0.1-0.2
= =W 2% — g PN ) _ AR T A
% ﬂ] Grade & Coating Data Steel Stainless Steel Cast Iron Materials H;srr; K}I%‘:g' dened
AHP0T | 100-140-180 100-125-150
+
& P20 + HYPERLOX fEHLT 150-200-250 150-200-250
I AT 80-145-210 50-80-110
: +
% P20 + ALOX =yl I 120-175-230 50-80-110
AT 150-175-200 @ 100-250-400 35-43-50 35-93-150
K10 + INOXACON e
f5NLT  150-200-250 120-150-180 150-175-200 100-250-400 35-43-50
fz 0.15-0.3 0.15-0.22
an +
y P20 + HYPERLOX ap 0.1-1 0.1-0.55
[ fz 0.15-0.6 0.1-0.4
v N . . .1-0.
ﬁiB P20 + ALOX ap 0.2-1 0.1-1
an
I~ fz 0.15 0.15 0.15-0.3 0.1-0.3 0.1-0.2 0.1-0.15
5 +
* K10 + INOXACON ap 0.1 0.1 0.1-1 0.1-1.5 0.1-1 0.1-0.3
RG =W 2% — g PN ) 5=k S) sERaE AR T 8
?f-? ﬂ] Grade & Coating Data Steel Stainless Steel Cast Iron N&r;—ti?ir;ollsjs H;srr; K}I%I:g_ dened
AHP0T | 100-140-180 100-125-150 @ 100-250-400
+
& P20 + HYPERLOX fEHL 150-200-250 150-200-250 @ 100-250-400
I P20 + ALOX AT 80-145-210 50-80-110
: +
;% =yl i 120-175-230 50-80-110
AT 150-175-200 @ 100-250-400 35-43-50 35-93-150
K10 + INOXACON e
sA0L | 150-200-250 @ 120-150-180 = 150-175-200 100-250-400 35-43-50 35-93-150
fz 0.15-0.4 0.15-0.28 0.1-0.4
a +
b | P20 + HYPERLOX ap 0.1-1.5 0.1-0.8 0.1-2
i3 fz 0.2-0.8 0.12-0.5
i N .2-0. . .
ﬁiB P20 + ALOX ap 0.25-2 0.12-1.5
an
I~ fz 0.15 0.15 0.15-0.4 0.1-0.4 0.1-0.25 0.1-0.25
5 +
* K10 + INOXACON ap 0.1 0.1 0.1-1.5 0.1-2 0.1-1 0.1-0.7

EBU/UNIT : tDEIRE Ve (n/sec) IS Fz (mm) /EIF Ap (mm)







